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Name: Datum: Ergebnis:
847,9 x 1003 = 3% 100D =
1072 = 1009 =
100D = 1003 =
371,9+ 1074 = 3 x 102 =
892, 6+ 10° = 1009 =
648,4 + 1072 = 170,7 x 107D =
102 = 300, 4 x 10° =
796,7 + 100" = 100D =
5% 10% = 101, 4 x 1079 =
9x10* = 1002 =
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Name: Datum: Ergebnis:
847,9 x 1072 = 0.8479 3x 1077 =03
1072 = 0.01 107 = 0.0001
1077 = 0.1 107 = 0.001
371,9+ 107% = 3719000 8 x 10° = 800
892,6+ 10> = 8.926 107 = 0.0001
648, 4+ 107 = 64840 170,7 x 107 = 17.07
1072 = 0.01 300, 4 x 107 = 30040
796, 7+ 107" = 7967 1077 = 0.1
5% 10% = 500 101,4x 107 =0.1014
9 x 10% = 900 1072 = 0.01
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